Superposvh&h

Output-cam be {oumd lo‘%wfmamj the. contri butionTo The
output from each oW ,

@D “Twwn OF" ol independent souras except ona ovmd find
ourpulr from trok one alone.

@ Kepeat @ Jor each (ndependent sowrce
€)) A(gebmﬁacﬂ\; sum al] outpuds from exch Sounca .

" \ =0 -
(U; v = > é A = =D
\ s
- -
move VU _ —
=" " or‘za\m L >
1 . \s
\ Tobe electneally
. " \
Twwun O‘W‘ om mchp‘e,vwchm'\' uok-\-o,gg <oulcg —‘\—ww;:loﬁ“
meams veplacing o "’5 A shot,
‘('J —_— /L:Q
\ t
\— . , L ——:
— (,':_(5 r__
o= L= _ -
s 7= v =
; | [
NoL SieN move | To Thie s
Zens to fwrvn C\ed“nco..\\‘\f
it of ¢ wenhcol 1o

am 'bpen N



Solve. for V5 Laung supex‘\m'srhon..

Co) "Tuwn o%}o“ \g omg, find oudput dwte Vs,

R\ ‘ +
. Ra. g

S t; off

o

ut 5

V&s becomes om “open™ amd, the Graxt is oveltage dividen

() Tiwwn off" U, omd find cutpuk duxle e

A‘)\' >

R +
Vo off I R

| i

[— —TD

Thic looks like Two resistors im ‘:ono.ﬂe\.




E’XO-NY\?\Q 3"'\2,
Show that the output o a wegh\LgA S0 ai '?Mmpud} U;’) 'UEZ_)MA ’U;S
+~
Ys,
2
N KR
= N
L +
) TZ 'U';,
o
. Wy, = . = - = L
( ‘ S sy = 7%)
R+ R, 3%/2 Y

The ot tuuo Source cadadations oane a&wn*h.ca_()v.

- L +Lqg 4+ L
WI;=U5‘+“’&7_+“)53 3tz L, + 3 %:





